Logic Diagram For NEW Simple Grid Method 2

Do nothing and wait

until we are at a new

grid level

Are we at a new grid level? (1 up or
down from the previous level we
were at)

Have we come up or
down to get to this
new level?

OPTIONAL*

Do we have an
exclusively buy or sell
grid equal to
TakeProfitGridSize

Open a buy - Open a Sell -
shouldn't be one shouldn't be one
here. here.

Close out all
- New Cylce

Do we have a losing Do we have a losing
sell trade? buy trade?

Close out pair Is there a highest Is there a lowest
winning sell trade winning buy trade
(biggest winner) that (biggest winrer) that
could be used to close could be used to close

Close out the
buy pair

Close out buy Is there an opposite Is there an opposite
and sell pair Buy trade in profit at Sell trade in profit at
for slight loss this grid level that this grid level that
would offset it exactly? would offset it exactly?

Close out buy
and sell pair
for slight loss
(spreads)

Close out losing Can the sum of the

S Can the sum of the Close out losing
sell and enough winning buy trades winning sell trades buy and enough

winning buy close the losing sell

) : close the losing buy winning sell
trades, starting trade with net profit?

trade with net profit ? trades, starting
with the biggest with the biggest

* This is an extra check to see if we have a grid of either just sell or just buys that has a number of open, profitable trades equal to TakeProfitGridSize.




